Add the lengths of the sides to find the perimeters of each part of the figures below.

222222 head - + + + = UnltS
JC .
.-.5;..- body - + + + = UnitS
9
5 ear - + + = UnltS
|2 |2
4 2
4 3
2 |—|- ear = + + = UnitS
9 6
tail =+ o+ o+« o+« = lunits
Lo
| = = head - |units
3
[l
A neck = units
10
A : 5 body = units
10 , i
: = right arm - units
. 7] \7 7 right leg = units
i . left leg - units
Mr. Roboto

© 2024 T®UCHMATH UG 6+ XPS 3.14 www.touchmath.com TouchMath Weekly Fun Sheets



Rugby is a popular sport among people of all ages in Europe. The rugby ball is shaped like and American
football. It is a rough sport because players wear very little padding. Solve the subtraction problems in the
rugby balls. Cross out the regrouping lines not used. Then, follow the clues below to find Jerome’s rugby ball.

Jerome’s ball does not have an 8 in ones place.
His ball does not have a three digit answer.

Jerome’s ball is an odd number.

His ball has 2 digits in the answer.

Write the number on Jerome’s rugby ball.
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